Kansas Corporation Commission Oil & Gas Conservation Division

Form Must Be Typed
Form must be Signed
Form starks must be Filled

WELL COMPLETION FORM ·

WELL HISTORY - DESCRI	PTION OF WELL & LEASE
OPERATOR: License #30253	API No. 15 - <u>035-19432-00-01</u>
Name: Cyclone Petroleum, Inc.	Spot Description:
Address 1: _1030 W. Main	NWSENW_ Sec29_ Twp. 34S. R. 3 😿 East 🗌 West
Address 2:	1650 Feet from 🗵 North / 🗌 South Line of Section
City: <u>Jenks</u> State: <u>OK</u> Zip:74037 +	Feet from East / X West Line of Section
Contact Person:James_Haver	Footages Calculated from Nearest Outside Section Corner:
Phone: (_918_) _291-3200	□NE XNW □SE □SW
CONTRACTOR: License #5822	County: Cowley
Name: Val_Energy, Inc.	Lease Name: Peters Well #: 29-7
Wellsite Geologist: none	Field Name: G1bson
Purchaser:	Producing Formation: Cleveland
Designate Type of Completion:	Elevation: Ground: 1136.9 Kelly Bushing: 1144
New Well X Re-Entry Workover	Total Depth: 3204 Plug Back Total Depth:
x oil	Amount of Surface Pipe Set and Cemented at: Feet
☐ Gas ☐ D&A ☐ ENHR ☐ SIGW	Multiple Stage Cementing Collar Used? Yes No
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set: Feet
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from:
Cathodic Other (Core, Expl., etc.):	feet depth to:sx cmt.
If Workover/Re-entry: Old Well Info as follows:	
Operator: Helmerich & Payne Int 1 Drilling Co.	Drilling Fluid Management Plan
Well Name: Gibson 1	(Data must be collected from the Reserve Pit)
Original Comp. Date: _3/1/58 Original Total Depth: _3397	Chloride content: ppm Fluid volume: bbls
Deepening Re-perf. Conv. to ENHR Conv. to SWD	Dewatering method used:
Canv. to GSW	
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
☐ SWD Permit #: ☐ ENHR Permit #:	Quarter Sec TwpS. R
SSW Permit #:	County: Permit #:
1/15/11 1/17/11 2/18/11 Spud Date or Date Reached TD Completion Date or	
Recompletion Date Recompletion Date	
Kansas 67202, within 120 days of the spud date, recompletion, workover or c of side two of this form will be held confidential for a period of 12 months if rec	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidence) report shall be attached with this form. ALL CEMENTING TICKETS MUST rm with all temporarily abandoned wells.
AFFIDAVIT	KCC Office Use ONLY

I am the affiant and I hereby certify that all requirements of the statutes, rules and regutations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Signature:	
7	Date: 6.7.11

KCC Office Use	ONLY
Letter of Confidentiality Received Date: 6-8-11 denied	RECEIVED
Date: 6 - 8-11 denied	JUN 1 o 2011
Wireline Log Received	KCC WICHITA
UIC Distribution ALT I II III Approved by:	15_Date: 620-11

Operator Name: <u>Cy</u>	clone Petrol	eum, Inc.	Lease Name: _	Peters		_ Well #: <u>29</u> _	7
ec. 29 Twp. 3	<u>4</u> s. R. <u>3</u>	🔀 East 🔲 West	County: Cow	Ley			
me tool open and clo ecovery, and flow rate	sed, flowing and shu	nd base of formations pe ut-in pressures, whether est, along with final chart I well site report.	shut-in pressure rea	ched static level,	hydrostatic pres	sures, bottom h	iole temperature, fluid
Orill Stem Tests Taker		Yes X No		og Formatio	n (Top), Depth a	nd Datum	Sample
amples Sent to Geo	logical Survey	☐ Yes 🔀 No	Nam	Name		Top D	
ores Taken lectric Log Run lectric Log Submitte (If no, Submit Copy		☐ Yes xi No ☐ Yes xi No ☐ Yes xi No					
ist All E. Logs Run:							
			RECORD N	ermediate, product	ion, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Longstring		4 1/2"		3213	Class A	150	_5_1bKo1_Sea
		ADDITIONA	L CEMENTING / SQ	JEEZE RECORD			
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Type of Cement	# Sacks Used		Type and	Percent Additives	
Shots Per Foot	PERFORAT Specify	ION RECORD - Bridge Plu Footage of Each Interval Pe	igs Set/Type erforated		cture, Shot, Cemer mount and Kind of M		d Depth
3	3000 - 3016			250 gal.	acid		
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes ☐ No)	
Date of First, Resumed	Production, SWD or Et	NHR. Producing Me		Gas Lift (Other (Explain)		
Estimated Production Per 24 Hours	Oil O	Bbls. Gas 0 0	Mcf Wa 20	er B	bls.	Gas-Oil Ratio	Gravity
DISPOSITI	ON OF GAS:		METHOD OF COMPL			PRODUCT	EOEIAED
Vented Solo	I Used on Lease	Other (Specify)	Perf. Duall (Submit		mmingled mit ACO-4)		N 1 2 2011



REMIT TO

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346

MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

Page

INVOICE

Invoice #

Invoice Date: 01/17/2011

Terms:

PETERS 29-7 30169

01-15-11

CYCLONE PETROLEUM INC (2004) 7030C S. LEWIS ST. SUITE 541 TULSA OK 74136

(918) 291 - 3200

Part Number Description Qty Unit Price Total

1126A	THICK SET CEMENT	150.00	17.0000	2550.00
1110A	KOL SEAL (50# BAG)	750.00	.4200	315.00
1111A	SODIUM METASILICATE	100.00	1.8000	180.00
1123	CITY WATER	3000.00	.0149	44.70
4129	CENTRALIZER 4 1/2"	6.00	40.0000	240.00
4161	FLOAT SHOE 4 1/2" AFU	1.00	273.0000	273.00
4453	4 1/2" LATCH DOWN PLUG	1.00	221.0000	221.00
r	Description	Hours	Unit Price	Total
436 8	30 BBL VACUUM TRUCK (CEMENT)	6.00	85.00	510.00
515 T	TON MILEAGE DELIVERY	660.00	1.20	792.00
520 C	CEMENT PUMP	1.00	925.00	925.00
520 E	EQUIPMENT MILEAGE (ONE WAY)	80.00	3.65	292.00

Parts: 3823.70 Freight: .00 Tax: 260.01 AR 6602.71

Labor: .00 Misc: .00 Total: 6602.71

.00 Supplies: .00 Change: .00

RECEIVED

Signed

JUN 1 1 2011





TICKET NUMBER 30169 LOCATION EURERA KS FOREMAN RXX Ledford

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

FIELD TICKET & TREATMENT REPORT CEMENT

DATE	CUSTOMER#	WELI	L NAME & NUM	IBER	SECTION	TOWNSHIP	RANGE	COUNTY
1-15-11	2616	Peters	29-7		29	34	3€	Couley
CUSTOMER	·	. ~		Sality		《建設》 读《記		
AAILING ADDR	yclone Pet	leleum Inc	<u> </u>	7	TRUCK#	DRIVER	TRUCK#	DRIVER
				CL as	520	Cliff		
7	030 C 5 les	is sid. sie s	571	ES	575	Aller B		
		STATE	ZIP CODE	·	436	Ed		
<i>Tu</i>	Isa	OK.	74136		<u>, </u>			†
OB TYPE	gstring 0	HOLE SIZE	72/8"	_ HOLE DEPTH	3210	CASING SIZE & V	EIGHT 41/2"	11.64
ASING DEPTH	32/5'	DRILL PIPE		TUBING			OTHER	
URRY WEIGH	нт <u>/3 4 4 </u>	SLURRY VOL 3	95 BJ	WATER gal/s	k 7.0	CEMENT LEET IN	CASING A	
SPLACEMEN'	1 49.8 BSI	DISPLACEMENT	T PSI 708	Rama PSI /20	So Bracks	RATE		
EMARKS: 5	afete meetin	· · · · · · · ·	~ 4×"	Cation	Bear a.ca	lotion u/ 3	C. d	
Q-0 20	Abl medae	illada asa	E) (1. σ	Chi dar	- October 1	NATION LIVER	2 DA/ TOUS	
ر نبی (Valence /cv (1264/	1 4	130/ 110777	Sprices: CV	1 - 30 SAS	Thicker (<u>emart</u>
	Duralis 4	- / 3 · / gc	el. Clashe.	1 000 4	ind, shut	down, release	letch_de	<u>wo</u>
- p 1/3	Jisplace w/	77.° 561.	Trest was	er +10a)	purp pressure	700 PSI B	ر ويام مون	
<u> </u>	release pres	Ser, 3/001	<u>+ 10/09 كوا</u>	d. Cond C	irculation @	all times whi	le cementina	3
Joh com	lete. Rig down	<u></u>					•	
	•							
				-				
	·	· · · · · · · · · · · · · · · · · · ·	1. That	n 1/2 "			· -	

ACCOUNT CODE	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
5401	1	PUMP CHARGE	925.00	925.00
5406	80	MILEAGE	3.45	292.00
112 5 A	150 sxs	thicket cement	17.06	2550.00
11104	256*	5th Rotson / SK	.42	315.00
IIIA	100*	metosilerte preflush	1.80	180 00
SYOTA	8.25	ten milege bulk trk	1.20	752.00
55026	6 hs	80 RDI MAC. TEX	85.00	510.00
1/23	3000 gals	City notes	14.90/1410	44.20
4/29	6	4%"x 7%" certicles	46.00	240.00
4161		192 AFV floot she RECEIVED	273.00	2 23.00
4453		4/2 later des plis JUN 1 (2011	221.00	221.00
		KCC WICHITA		
			Juddel	6342. 20
in 3737		6.8%	SALES TAX	260.01
at Graf	O. Ben	339164/15/11	ESTIMATED TOTAL	6602.71

DATE I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.